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Post: JEE (General

Q.B. Number:

Roll Number / JHi; | i

(.B. Series! C

Wﬁmﬁ#ﬁﬁﬁﬁﬂﬂm‘ﬂ?ﬁ“ﬁ“ﬁ:
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Prura @ §, waa 9fFaeEr ox A
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8. FTUAHT AT 9IF ¢ @ " MR e

FT T & FO oFE oo A = F a9 i
FEH T T HY W & 399 A #

9. #ifAm ¥ yaftr F wW ¥ @ g, R

WA 91 HGET HAY @915 AA HL ol HIOEr wiod
AT WAt #® UEuR FWE gd wa ant A
Fea et o¥ 3d # aww 3v) TF U g A E

10, oA NT I 99F H Agar/ TS W I/ T
yaifrg s &=mar ar &7 ST |ar & ' 1A
g7 387 93& WA w1 Fr oAl anegdi &
aratrl

11, wF qFdd § 3d 7 @ W F=a 7 & f{w
T ITERY FRET T §

12, ol & 9E HNUANR I 995 fories & d@i
& yfldl & 9flen @Ay A9 F ToUR m
g & S A A 8

13. W giFaE 7 W Ieh Adk R F g s
F15 oft | B deor & Ioar § oA WA & RS
HEFUT &7 21

(3rsh A fadu & R Foar A 7w 2/ Please -

see lhe lasl Page [or inslructions in English)
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1. Which of the following slatements is TRUE about
operaling syslem?
(A) Windows 7 is developed by BlackBerry
(B) iOS is developed by Microsoft
{C)Mac OS is developed by Apple
(D) Bada OS is developed by Microsoft

2. Which of the following is NOT ensured by the
Cultural and Educational rights under
fundamental nghts?

(A) To conserve their cultura

(B) Right of minorities to establish and administer
educational institutions of their choice

(C) To conserve their language or script

(D) To destroy the cther culture for propagation of
their culture

3. Which city of Bihar, located in Vaishali district, is
considered to be the major indusirial city?

(A) Hajipur
(B) Arrah
(C) Gaya
(D) Sonpur

4. Yeast which is used in making bread is a
(4) Salt
(B) Seed
(C) Fungus
(D) Bacteria

1.

YT faces & wau & A X FT A

FYUT T &7

(A)Fiersr 7 el gEn faeTie R o §

(B)iOS Fr=maire ZaNT et R ar &

;C}ﬂmosm@mﬁmﬁﬁmwﬁ

(D)a=T OS e ZanT i B
&

frefatae # & #F ar gephw T AEw

st & AR HOFR & ded gATead a0

ey mar 7

(A) 3Tl TEpTe T HTET

(B) yreTEmF & WwR, o g Fr GEw
FEnH fr Ty JHE RTES S

(C) 3=t a4 foffr =1 FRIOT FHT

(D)3l wEgha & war & v gEy f1 dRph

FT 5 Tl

e A & Rue REw & F9 § I 9
e UE< A ST 67
(A) BTSiIT

(B) 3T

(C)aram

(D) TR

EFR 3d ¥ e F v 3w & | S
& °F

(A) eI

(B) st

(Cyxash

(D)#reTT]
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5.

Which one of the following Is commonly known as
Washing soda?

{A) Calcium Carbonate

(B) Calcium Acelate

(CyMagnesium Sulphata

(D) Sodium Carbonate

Who was the Honerary Secretary of Badminton
Association of Bihar 20157

(AJK. N Jais:.val

(B) Sanjay Mishra

(C)S P Singh

{D) Omar Rashid

Which city of Bihar was earller known as
Palaliputra?

(A) Nalanda

(8) Chapra

(C)Patna

(D) Katihar

Who assumed command of Indian Mavy as the

23 Chiel of Naval Staff on 31 May 20167

(A) Devender K Joshi
{B) Sunil Lamba
(C) Nirmal K Varma

(D) Robin K Dhowan

5 fosfafan & & W syt o offihr @ &
: ¥ A FT S k7

AN &Ffowran Frafae
(B) *Tewrmw e
(C)ARafms wolve
(D)ARTR FET »

6. 2015 fag & &=fea T & Ame

wfag #tq 97
(A)F. TA FTawaTe -
(B)F=T fAam
(Cyra.d g
(D)3 T

7. fapm & &7 @ R o wefAqy F w9 A
ST FTET
(A) e
(By oo
_ACyger
(D)FieER

8. = & @ e 31 7% 2016 # e
Afeem & 207 FEmfwld & w % FAE
g B
(A) e&d% & il
(B) geiiey dmam —

(C) P & a#t
(D)TTae & urEs
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9. Which river is known as tha ‘Sorrow of Bihar? 9. wia i A& g & HEWT F T A I
ST B7
(A) Mahananda (A) REHET
(B) Punpun (B) g7g
(C) Kosi J(CyFrh
(D) Phalgu ~ (D) %]
10. The fundamental duties are enjoined in which 10. T Fdea, wiaum & R aeqede # fav
article of the constitution? e g7
(A) Arlicle 42 {A) y:l-ﬁ}z 42
(B) Articie 51A /{B)Jf-‘_ﬁﬂﬁ 51A
(C) Article 19 (C) 3=tz 19
(D) Article 356 (D) ¥tz 356
11. WP isthe sisterof X, S is the daughter of P, then  11. & P, X #Y ag= &, S, P Fr & g arXs
how X is relaled to S7 o e wafta &7
{A) Maternal uncle {A)ATAT
(B) Brother (B) Hrg
(C) Brother-in-law (Cyarer
_AD)Fniifye agh R S e &

(D) Can't be determined
12. mﬁwmaﬂ‘r&mwm&ﬁm

& wk &) wh Twew &1 T4 &Y ot I FTr
ﬁammaﬂtsﬁ:{mmﬁﬁmﬁmm
A#%%104.6 3,796, .. ,12

12. A number series is given with one lerm missing in
the series. Choose the correct alternative thal will

continue the same pattern and fill in the blank

space in the series. 0, 4,6, 3, 7, L 2 - SRS g2

(A)8 (i
(8) 10 AB)10
(C) 11 (G 11
(D) 14 (0)14
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13. The paper sheet given below is folded along the 13, R & 78 du dhe @ Ridew W ITER
dotted line. How many edges will the resultant mres e a1 oftomd dut e & feaer
paper sheet have? ey 917
"‘ "‘-
~ \
(A)2 (A)2
(B)4 (B)4
7 AC)7
(@9 (D)9
14. Replace the ‘7" with the same relationship from 4. A@ AT FETA fer oie e @ ' & Y
the given option, as in the original pair. HAY F HY aEor?
Disabled : Retarded :: Liberated : ? e FgEe o fEE ?
(A) Captured (A) AT
(B) Free (B)7rFe
(C) Privileged (C) ﬁ‘ﬂ"“ﬁi‘?
(D) Liberal o (D)FaR
15. P is heavier than T but lighter than M, N is lighter 15 P, T ¥ sl & after M & &= &1 N, S 3R
than S and T, Q is heavier than O but lighter than TAET LI Q, DT mir g afFa N & g
N. S is not heavier than M, The heaviest is €1 S, M J 3l 7T ¥ FlT wa Ay &2
(AM ~AAIM
(B)P (B)P
(c)s (C)s
(D) Can't be determined (D) el T R S T &
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16. f=faf@a T &, = & a1 HY & v =
(a1 guif) & &7 F& FAY ¥ I a@ Hau e
algama:a'ravﬂ‘é?ihﬁtl w & s AW
v aot e ¥ gE Toh A RT v et &
¥ uw ¥ e RFeq F AGA FF HE TN

16. In the following question, there is some
relationship between the two given numeric (or
alphabetic) terms on left side of :: and the same
relationship holds between the twoe terms (o ils

right. One term to the right of :; is missing. This

term is given as one of the altematives given e #
below the question. Find oul the missing term
selecting the comrect altematives.
+ 8 16 ;7
9:8::16:7 g:587% 18 &
A)27 7
(A) 27 (A)
18
(B) 18 (‘E )
(C)17
{C)y17
(D)14
(D)14

17. E#rﬁfﬁtrﬁrmﬁa‘rsm‘ﬂzﬂ‘aﬁrafﬁ
mmaﬁmﬂmmmﬁm
10, 100, 200, 310,____

17. Choose the correcl alternative that will conlinue
the same pattern and fill in the blank space in the

series. 10, 100, 200, 310,

(A) 430 AM430
" (B)420
(C)410
(C}410
(D)400
(D)400

Page 6 of 32


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

01cC

GET IT ON
Google Play

18. Read the informalion given below and answer the

18.

20.

question thai follows:

There are six cilies A, B,C,D,Eand F. Ais not a

hill station. B and E are not historical places.
.'_.4—’-'-I1L . ...-"'p = D Fs

nol an industrial city. A and D are not historical
places. A and B are not alike.
—

Which two cities are neither historical places nor

industrial cenlres?

(A)Aand B

(B)Dand E

(C)FandC

(D)BandD

Mahesh's sisler is the wife of Somu. Somu is
Rani's brother. Somu'’s father is Madhur. Sheetal
is Somu's grandmother. Hema Is Sheetal's
daughter-in-law. Rohit is Rani's brother's son,
Who is Rohit to Mahesh 7

{A) Son

(B) Brother-in-law

{C) Nephew

(D) Brother

Select the letters group which is least like the
other letlers groups.

(A) XWVUY

(B) EDCBA

(C) JIHGF

(D) ONMLK

L 3

18, A= &t Srdy o8 R 3u% 99 Rr e
X w3 &
TR DT MI A, B, C, D, E W F ¥ A TH
few = A¢t ¥ B 3R E Refe ww A
¢! D uF e wev A€t &1 A T D
daees wua 7 & A W B wE 3w 74 §

e # & 5 @ & wgT 7 & WeEfes e
g it A & i S &7

(A)A ¥R B

AB)D ¥R E

(C)F Mz C

(D)B 3T D *

19. e i 75 A B 9= §) AH O T oA
&1 g & faer MR §) e W A Tl
T e #r 3y 1 AfgE W F w5 F oA
& AfEa A H1 FAT T &7

(A)dT
(B) WraT
AC) s
(D) *1ms

20. 3W e FAF F OON B ST WG W T
& a9 79 Ao g
AB) XWVLUY
(B)EDCBA
(C)JIHGF
(D)ONMLK

Page 7 of 32


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

01cC

GET IT ON
Google Play

I«

21,

22

24.

Find the antn‘ﬁﬁ'l of the underlined word.
| am very grateful lo you for your wonderfu!

geslure.
(A)obliged X

(B} indebled

(C)thankless —

(D) well-disposed

Choose the correct meaning for the underlined
idiom/phrase:

His family stood by him through thick and thin in

his bad days.

{A) half-way

(BYunder all conditions »
(C)only for some things
(D) for some time

Find the synonym of the underlined word.

Her adulatory remarks surprised us.

(A} Intellectual

(B} Insulting

(C) Appreciative®

(D) Funny

Choose the one-word substilule :

Strong disagreement.

(A) discussion

(B) opinion

(C)perspective

(D) opposition ~

Identify the correct sentence:

(A) Is your firm having annual increments?

(B) Have been waiting for the tesl resulls to come
through yet?

(C) She does not drive an sports car.

(D) A dictionary tries to explain the meanings of
words.
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26. g ST HW F WA 9G¥ -
i (A) T & T qW@
(B)T% & e W@
(C)TEAT
(D)= &1 H{@
27. frAfaf@a & & sl =7 Redands = =
7
(A) @
(B)Fa
AC)Trh
(D)#T
28. g 3eTaT HF WU HEr@l F I Jam?
(A)erETaa f&ars S
,(B)3TH &
(C)AA Seget g
(D)3TN 7 FLA
29. =% § FfT A Y W6
_(A) BT ATH THT B
(B) AT & &7 THUT Sff Bl
(C)AT e THoT S &
(D)W = AT T £
30. et & & FlF T e ITAET T qIgar
" @D
(A) AT,
(B) 3TerH
- (C)zgfa
(D) waT
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31. A hardware and/or software boundary that 31. v grdduy afvar WA #drar F mlﬁ'gy
prevents unauthorized users from accessing IR F T Jea+w g7 wiaaid Wit
restricted files on a network is ﬁw@##mt.ﬂiﬂmn
(A) Cookies (A)FTRTH
(B) Virus (B)arstH
(C) Firewall AC)wamate
(D) Protocol (D) SR
32. Which one of the following converts printed 32, R A @ i AR Hagpiee # Bioew
documents in lo Digital Images? ofydt & wqiafa & £
(A) Mouse (A) 5T
(B) Keyboard (B)FrarE
(C) Scanner /(C)F!FIT
{D) Webcam (D)da&HH
33. If we send the same message to all users al 33, o} g7 UF AW A @ ITdTEdHt F 0F
once, it is called as * wewr Ao € oY, 9% T e o7
{A) Broadcasting (A) wiZeRITEEIT ?
(B) Mullicasling (B) ATeTamiEear
(C) Unicasting (C) g
(D) All casting (D) e A
34. |t runs on the top of the MS WORD 2013 34:1. I MS 7% 2013 WA & i o @ aRen
application and is the replacement for the ¢ 3t o7 zaw Mt A & R wftemr §
loolbars and menus, It is known as S8 FT FEd &7
(A) Text (A) T
(B) Worksheet (B) 7
(C) Ribbon (C) Tt ¢
(D) Report (D)RE

Paga 10 of 32
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35. A device which feeds data to the computer

system for processing is known as

(A) Output
(B) Software
(C) Input
(D)ALU
36. A device which reads bar codes and converts
them into electric pulses to be processed by a
computer is
(A) Plotter
{B) Track Ball
(C) Light Pen
(D) Bar code Reader

37. E-mail program is also known as

35. ueh fBamw o wEEer & v Fege wonsr

F 221 BIE T §, 9% FE T F S Sar
&7

(A) 3T3EE
(B)HiFeaay

AC)ETEe

36.

37.
W,

(D)ALU

U fBasw o e F13 ugar & 3R 3F
FET ZART SFA F & AT Fafdes oo #
TR A &, T &

" (A)TTeT

(B)&F dlet
(C)wrse Ua

_AD)TR F1F =X

&3 S Read & o S ST ¥7

(A) Server (A) FaT
(B) Client-server (B) FATSE-TAT «
(C) E-mail client (C)§-AT Fo5Te
(D) Client (D) FaTST
38. Itis a collection of basic utility computer programs 3@ e ABHATE AT =TT AT i;ﬁhnﬁ'l‘
made by Microsoft. f.‘sjsw’rﬁm e WA T U 6T B
(A) JAVA (A) JAVA™ Y
(B) Open Office (B) =T 3itRea
(C)10s (C)I0S
(D) MS Office ADIMS ifre
"
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39. By using which operation we can just change the
size of the fonl on-screen without impacting any
other attribute of the document?

(A) Formal
(B) Edit
(C)Zoom
(D) Filter

40. In MS-Word, which view button displays pages
exactly as they will appear when printed?

(A) Full Screen Reading view
(B) Print Layout view
(C)Web Layout view
{D) Outline view

41. For protection of a 10 MVA, 132 kV/6.6 kV delta-
star connected transformer, whal wil] be tumn ratio
of current transformer on high voltage side in
differential proteclion scheme to circulate a

current 5 A in pilot wires?

(A)B74.75: 511.732
(B)43.73 : 511.732
(C)43.73:5
(D)874.75 :5

42. The number of slip rings of a single phase and
three phase converiers is
{A) 1 and 3 respectively
(B) 2 and 3 respectively
{C) 2 and 6 respectively
(D)1 and 6 respectivaly

3 S s A T O e &

-

fed ot 3 TAYaT = wfaw e faer e
o vz & WEr # i &9 a5d
(A)wiffe

(B) vz

(C)aFe

(D) e

40. Ms-a% # ag T @ = a7 & S 1 A

41

42,

&% 3a mrE veffia a1 § S 4% ARA B
oy feard &7
(A) P T AfET =

_AB) T 33T =

(C)3aT W3T
(D) Jm3Terg &4

oF 10 MVA, 132 kVI6.6 kV ei-ier F=iaes
FREET Y FReT & fov, fEeeE wwr
Aot & qaee ait ¥ 5 A FeE WA
¥ v o7 dezar 98 W ST TP §
T AT T Fm?

{A)B74.75: 5/1.732

(B)43.73:5/1.732

(C)43.73:5 «

(D)874.75:5

v T w9 3R =1 v i & e
o (wdt aerah) $r dem w27 @i

(A)FTrn 1 T 3

AB)Fm: 2 A 3

(Cywa: 2 3T 6
(D)&FFAT: 1 AT 6
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43. A Silicon Controlled Rectifier (SCR) can 43. v BRTR Fgies Feemw (SCR) 75°C &
withsland a maximum junction lemperature of qffder a9FE & A 120°C F wwan
120'C with an ambient lemperature of 75°C. If the ST A FTOAHA FWEA §| AR

SCR # s/ ¥ a7 ofdy a% adg
SfeRTT 1.5°C/W &, o ¥iea wlead ol

SCR has thermal resistance from junction to

ambienl as 1.5°C/AW, the maximum intemal power

dissipation allowed is YT HIeAT g
(A)30W — (A)30 W —
(B)60W (B)60 W
()80 W (C)B0 W
()50 W (D)50 W

44. Metallic copperis a 44, wifzss e v
(A) paramagnetic substance (A) spFahrT Tard &
(B) diamagnetic substance AB) wfadeda werd §
(C)ferromagnetic substancs (C)SFgaFra verd &
(D) ferrimagnelic substance (D)Sirgedry Terd ¥

45. Which of the following motors Is preferred for 45. TpefatGe & Eariad Zisa & foe agar
g AT @t #@ B
(A)FI=TH Al
(B) =D o7 (=i &) ssai= Aied
AC)art s Aafaa de diex
(D) Fraeeer AT

automatic drives?

{A) Synchronous motors

(B} Squirral cage induction molar
#,..[CJ Ward Leonard controlled dc molors

{D) Repulsion motor
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46. A3 phase slip ring induction motoris wound for ~ 48. T 3 ¥ T R Sz (At awa o)
4 poles on stator and 6 poles on rotor. When Y AR d o WA W O F
3-phase balanced voltage source at 50 Hz is fore YATar g3 &1 o 3% e drees
applied to the motor, it will run at &1 50 Hz Aex 9 @F] B S §, a9 9%
el rpm # atgar &7
(A) 1500 rpm (A) 1500 rpm
(B) 1000 rpm (B)1000 rpm «
(C) 750 rpm (C)750 rpm
(D)0 rpm (D)0 rpm
47. A good heating element should have 47, ww e @i oieeie (=) # F g
aifew?
(A) high resistivity and low melting point (A)3eer wRerduser 3R AT e
(B) low resistivity and high melting point (B) oy wferitrse HIT 3= AR
_4C) high resistivity and high meting paint _jC)3ea AT 3R I e
(D) low resistivity and low melting point (D) =T Wiaerell 3R fow= o
48. Field control of a DG shunt motor gives which one ~ 48. T& DC T (WRd Faford) et fres (819)
of the following drives? Y Erir ReRa T § § Y I B
(A) Constanl torque drive AA) FieFeee 2% F5a
(B) #ie¥cee T3 g5

(B) Constanl speed drive

(C)wireere kW 31540

(C) Constant kW drive
(D)3Rmaw A% ¥ 339

(D) Variable load speed drive
g
49. |f the base current of a BJT is 250 pA and emitter '4d, R oF BJT & &7 FGT 250 uA § AR

current is 15 mA, then the common base current AT FF 15 mA ¥ A, 19 90 T O
gain will be T Em?

(A) 95 (A)95

(B) 41 (B)41

(C)59 (C)59

(D) 55 (D) 55
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50. wm{mﬁ}waﬁmw

50. Voltage regulation of an alternator may be zero if

(A) the load power factor is lagging
_~(B) the load power factor is leading
(C) the machine runs at very low loads

(D)it is loaded beyond its full-load capacity

U B T F IR,

(A)YYE 9raT ST qrgeme

_AB)®3 grat &ee wvmh ¢

[ijhﬂqﬁmmﬂmt

(D)3¥ 30F F-A15 AT & W a3 frar
ST &

51. Hall effect can be used 51. gl ST 1 FESAT,
x i) 3ETEF FT TR AT FA & fav B ar
i) 1o find type of semiconductor HFT €
if) to find carrier concentration i) aEs TEaar (FRET FEEEeIE) T e
iii) to measure conductivity # fae fBear &1 g&%ar &
i) TTEEAT W AT & o BRar S wear §
(A)ionly (A)Fae i
(B)ii anly (B) Fad i
(C) lii only (CYhae iii
(D)i, il and iii (D)i, ii 3T i .
52. Reactance relay is 52. YuwcH (wferere) e
(A) Voltage operated and Current restrained (A)aleear FUIfAd AR e Fad &
(B) Directional unit operated and Current (B) e ge1s weIfov R Fee Waa ¥
restrained AC)Twe Farfed Y Rarers s w9a &

(C) Current operated and Directional unit
restrained

(D) Directional unit operated and Valtage
restrained

(D) ReR® Fs e 3 dieear @99 €
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53. The equivalent decimal and binary numbers of
the given hexadecimal number (7BF):s are
(A) 1983; 0111 1011 1110
(8) 1983; 0111 1011 1111 -
(C)1982; 0111 1011 1110
(D) 1982; 0111 1011 1111

54. The inpul and oulpul voltages of a CE amplifier is

{A) equal
(B) 1B0° out of phase
(C) always negalive
(D)in phase
55. Al resonant frequency for a senes RLGC circuit,
the magnitude and phase of the voltage across C
and L are respeclively
(A) equal and same in phase
(B) equal and opposite in phase
(C) unequal and same in phalse
(D) unequal and oppaosite in phase
56. Whal is the frequency range of VHF
glectromagnetic waves?
(A) 30-300 kHz
(B) 30-3000 kHz
(C)30-300 MHz
(D) 30-3000 MHz

53. Ru av sy anurdr HEAT (7BF)is T WG
ZvAeE R gl dEad w2 87
(A)1983; 0111 1011 1110

AB)1983; 0111 1011 1111
(C)1982; 0111 1011 1110
(D)1982; 0111 1011 1111

54. T CE (Ao #1 $AJE HT HE3TYE

R
(A) T &

(B) 83T & 180° @ET Ge
(C)gA FFRIAS €
AD)YF F &

55. w A@en RLC aftwyr & forw e amgf
71 C 3R L F ofAmer My deear & &
A
(A) U3 F FART MY TAET §

_AB) T & T N Rl &
(C)F= & FmHeT AN FAET &
(D) & 3wEE AR RIda §

5‘;5‘. VHFﬁqgaﬂiﬁwatﬁﬂyqﬁmmm

(A)30-300 kHz
_A{B)30-3000 kHz

(C)30-300 MHz

(D)30-3000 MHz
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57.

59.

To reduce corona loss, what should be the shape
of a conduclor?

. {A) Circular

(B) Flat

(C)Oval

(D) Can be of any shape

The speed of a three phase induction motar will

increase, if the

(A) number of poles of the stator winding is
increased

(B) number of poles of the stator winding is
decreased

(C) frequency of the stalor supply is decreased

(D) resistance of rotor circuit is increased

The motor preferred for boom hoist in case of

travelling cranes is

(A) AC sfip ing motor

(B) Squirrel cage induclion motor

(C) Synchranous motor

(D) Ward Leonard controlled DC shunt molor

A differential amplifier has a differential gain of

28000 and CMRR is 60 dB. What will be the

value of common mode gain?

(Notalions/symbols carry their usual meaning)

(A) Ac=0.125

(B)A-=0.33

(C)A=3

(D)A.= 28

57.

FAT B & &7 w0 & OO0 0 FEawT &
HIFIT &7 g afEe?

AR T

58.

54,

A

60.

£

(B) HHAA
(C)Im=IT
(D) Felr 3ft 3R 1 BY FFaT &

T AT et E3ERE (W) Hied i afa A

R @, 3

(A)Reex afE (F3aq) & 97 A Jew A
T & Smw

Aajmaﬁﬁ{mﬁwaﬁrﬂwﬁ
wer fear A

(Cyreex ymafd #r sl @ aer fear s

(D)TeT gRwy & ey & geid Fr o

Fafae &= F FAe @ g7 gfsve & e adfger
wed HeT HiF d@r 2

(A)AC wdf aag (RaT fim Jex »

_B) el o (FRafter &) g59u Al
(C) Eimima #lex

(D)yar: fRarg fSafia DC () TRd A
T 9ig AP @ Mg SJeeiE 28000 ¥
#X CMRR 60 dB &1 Z3gfass & decas
(A A5 75) F o F g9
(it F 3w )
(A)A. = 0.125

(B}A. = 0.33

JC)A. = 3

(D)A. = 28 »
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61. Operations Management deals with whichof the ~ 61. Faree waueT fsafafaa # ¥ B sy
*

following? Ecor -y
(A) Manufacturing Process (A) feraToT o ¢
(B) Transportation and Logistics (B) yREge T HAR oF
(C) Inventory Managemenlt and F'urchas.a (C) AT AU AT+
(D) Enterprises Resources Planning and _AD)3eT#H FHIE AT (ST R
Controlling Tt AR fagaeT
62. For a NAND gate, when one or more inputs are 62. us NAND A & v 579 Ua a1 Hftw e
low, then the output will be o=t T & @, ICIC 4T E
(A) low (A) e
(B) High B3
(C) alternately high and low (C)ardr-arlt & 379 i A
(D) high or low depending on relative magnitude {D]W & ander afEeT § HYR 9 3T ;@
of inputs =t
63. A short circuit test performed on a 25 KVA 63. Us 25 KVA 2300/230 V T=RSFR 9T fFar
2300/230 V transformer gives the measured amar ¢ FiFe T (Y TR9Y TI9E)
value of the resistance as 0.8 Q and 0.009 Q on SRR & Sl a0 Siaiie & H19T el
the two sides of the transformer. Its (otal 0.8 0 3T 0009 Q& F A AT I LV 9w &
equivalent resistance in Qs referred to LV side e fafdee as & swa T v sy
will be I
(A)0.017 0 AA)0.077 Q
@170 (B)1.7 0
— (C)0.09 @
(D)0.908 (D)0.908 Q
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64. A bistable multivibrator is a

(A) free running oscillator

(B) triggered oscillator

(C) saw tooth wave generalor

(D) crystal oscillator

65. The reduced form of the Boolean expression

AB+BC'+AC is

(A) AB+AC

(BYAB+C

(C)AC+B'

(D)AC+BC'

@. Distribution feeders are generally protected with
/(A) Directional relays at Infeed buses and Non-

directional relays at Load buses

(B) Non-directional relays at Infeed buses and
Directional relays at Load buses

(C) Directional relays at Infeed buses and at Load
buses

(D) Non-Directional relays at Infeed buses and at
Load buses

67. The latching current of a Silicon Controlled

Rectifier is 20 mA. Its holding current could be

(A) 10 mA
(B)21 mA
(C)40 mA
(D) 60 mA

64. A Rl apeid (Aediamse)
Y g gy g
(B) R 2w (R ¥ o
_A(C)E g &7 s &
(D) Rreew 2 (R &
65. Fforger edor AB+BC'+AC & #g#iFd ¥ §

(A)AB+AC

(B) AB+C

(C)AC+B'
_B)ACHBC’

66. fawor $rst F Al W FE & Ty e 87
*/m)yﬁgmwmmﬂﬁmmmw
Ir-arera R
(Bysfrs aF ¥ IN-femers Ao 3R s a9
R EaeRs e
(C)Fﬂgmmmwwﬁmmﬁﬂ
(D)z=F1s a7 AR &z aw W R-Tpreas @

67. ww o g (Fewrr (Reesrl) &
AR Fe 20 mA &) IEET AIfFST Fee FU
B T &7
_{A)10 mA
(B)21 mA
(C)40 mA
(D)60 mA
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68. You are responsible for transmitting a fixed 68. g v WFaa 5T oA & 7Y 0F Aty
amount of power over a fixed distance with a gl ot gy 4 ve fdwa A F YENOT &
fixed ling loss, What will be the amount of copper fav frAer & & oA %el, 2-07 @A
required to do it using a 3-phase, 3-wire system wonely & 3T FHA A geel A UF 3- §,
when compared to that of using a single-phase, 3R WOITE T 35AET & 59 4 §
2-wire line system? WaTE are $r A F#4r g7
(A) one-fourth (A) Ueh-giurs
(B) three-fourth AB)TA-aturg
(C)one-third (C)Ta-TerTs
(D) half L

69. In DC Welding @ DC afesm &

(A) electrode is made positive and work piece (A)sdR)3 =1 FERIERS AT ST ¢ AR
negative TRUTE AFNCHT ¢

(B) electrode is made negative and work piece /(5}5313@3 F AFAEAT @Al o § AT
positive TRUTE TFMAICHE

(C)both electrode and work plece are positive (C)art saazTs HR i F FHHAD

(D) both electrode and work piece are negalive s ¥

(D)art soiEgE HIT aFE & TAFRIcHS ae T
S &

70. A PCM system uses a uniform quantizer followed ~ 70. U& PCM SUTIRI U UHEAA SATH & @15 0
by a 6 bit encoder. The system bit rate is 60 * & fe TARIET F 3T FL ¢ Woner Tae
Mbits/sec. The maximum bandwidth of the &< 60 Mbitsisec &1 Hr Wehed F1 JTOFaH
message signal for which this system operates dsfasy faw% v a7 vorel dowees g @
satisfactorily would be Hferd & &, aF g,

(A) 2.5 MHz w2k
(B) 4.5 MHz (4.5 MHz2
(C)5 MHz (C)5 MHzo
(D) 10 MHz (D)10 MHz
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71.

72,

Arrange the following prolocol layers from top to
bottom.

Network, Physical, Application, Transport, Link

(A) Network-Application-Link—+Physical
~Transport

(B) Network-Physical-Application-Transport
-Link

(C) Application-Transport-Network-Link
-Physical

(D) Application-+Network-Transport-+Physical
~Link

The approximale efficiency of a 3-phase, 50 Hz,

4 pole induction motor running at 1455 rpm is

(A) 98%

(B)97%

(C)96%

(D) 94%

7. famfafde setwe ot fr sgaem s

I aF F1

(A) FTTH— HT AT — Rier— R TR geae
(B) Feaw— o — TR — e —
~(C) stam gt —aeas - foim— Wiasa
(D) IRTFATad gt — e — e

72. 1455 pm 9X 9« I UH 3-Fd, 50 Hz, 4 O F

dEaRIeT (STOT) AT I MR & §,
(A) 98%
_iB)97%
(C)96%
(D)94%

73. 1yF @Rt a5 # 3 FARAERT # 50 Hz W
90% ferswenfam wer & o sgaer 33T

73. What will be the neutralizer inductive reactance in

ohms for neutralising the 90% of line 1o earth

capacitance of 1pF at 50 Hz? ey F4r gOm?
(A) 1179 (A) 1179 ~

(B) 1061 (B) 1061

(C) 1210 (C)1210

(D)950 (D)950
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74. The phase sequence in a balanced 3-phase
4 wire AC system is RYB. If the voltage of R
phase is 230.0° V, then for Y phase it is
(Notations/symbols carry their usual meaning)
(A)230.+120° V
(B) 230.+60° V
(C) 230490 V
(D) 230.-120° V

75. What is the function of megger?

(A) To measure power

(B} To measure low resistance

(C) To measure insulation resistance

(D) To measure voltage

76. The oulput of a JK flip-flop with asynchronous

preset and clear inputs Is *1°, The oulput can be

changed to ‘0" with one of the following conditions
by applying

(A)J =0, K = 0 and using a clock

(B)J =1, K =0 and using lhe clock

(C)a synchronous presel input

(D)J =1, K = 1 and using the clock

An auto transformer having 1250 turns is

connected across a 250 V AC supply. What will

be the secondary vollage obtalned, if a tap is

taken at 800h turn?
(A) 200 V
(BY160 V
(C)165 V
(D)B0OO V

GET IT ON
Google Play
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A RYB ¥1 afy R e F1 Aecel
' 23020° v ¥ &Y, Y & & AT IE E
(= & o w3 E)
(A)2302+120° V
(B)2302+60° V
(C)2302+90° V
_AD)230,-120° V

75. IR =T FF F1 &7

76.

o

(A) 9Tt & AT

(B) forr wfery &Y Avoer
_AC)ySogera WidTn T A

(D)areear S /AT

iR ST R AR e F A T UK
-t & amIege 1" &1 et feufaat &
| e v & wdT Y HEEE W00 H agen
S FqFHAT 67

(A)J = 0, K = 0 3T vF Fals &1 39901 &1
(B)d = 1, K = 0 MR &d1e &1 394 &:7
(Cluw R fRie 37

(D) =1, K =1 3K FdiF & 39deT a0

1250 Z=f a1 OF 3ifeY TeETEAT T 250 V
AC JwT (3M9fe) F 31 g3 &1 3w 800%
Eﬁq’twhﬁmm%a’r.mﬁrﬁ%ﬂ
dreest F4T g

(A)200 vV
AB) 16OV
(C)165 V
(D)80O V

u
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78. When two coupled coils of equal sell-inductance ~ 78. 1¥ T FI-WFcd aTef & YA Feel
are connecled in series in one way, the net TE § AT A 3 gv &, YRY & 6 mH
inductance is 6 mH and when they are connected IS LI I L R §U & Ry
in another way, the net inductance is 2 mH. Whal WHeT 2 mH ¥ 57§ 0 ERECO e &
is the maximum value of net inductance, when HRAET A 3 §C 8 a9 Yy e
they are connected in parallel in a suitable way? i e B ¥
(A) 1.5mH _AR)1.5 mH
(B) 3 mH (B)3 mH
(C)4 mH (C)4 mH
(D)8 mH (D)8 mH
79. Which one of the following meters exhibits 79. Prfef@e @i # & St @ St S
creeping phenomena? gl &7
(A) Ammeter (A) T
(B) Voltmeter (B) ey
(C)Watt meter (C)are Hex
{D) Energy meter ,“D)er LS
B0. The rotor power output of a 3 phase induction 80, T I i g (SROT) AT F Ve WX
motor is 12 KW and the corresponding slip is 4%. (Fege) 3m3eqe 12 kW & 3R deasy =g
The rotor copper loss will be 4% ¥ VeX I die (drEr §1H) a7 g,
(A)525 W (A)525 W
(8) 500 W AW
(C)550 W (C)550 W
o (D)600 W

Page 23 of 32


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

01cC

GET IT ON
Google Play

"

81. In a single phase full converter, the maximum

value of fiing angle for rectifier operation will be

(A) 60°
(B) 30°
(C)90°
(D) 45°

B2. For a signal, which is amplitude modulated o a
depth of 90% by a sinusoidal signal, what will be
the ratio of transmitted power to the power of
unmodulated carrier?
(A)0.5
(B)0.81
(C)1.405
(Dj1.5

83. A commutator having a diameler of 76 cm rotales
at 600 rpm. If the width of the brush is 1.5 cm, the

approximate time of commutation is

(A)0.83 msec
(B)0.72 msec
(C)0.63 msec
{0)0.5 msec

84. Which of the following types of molor Is preferred
for smooth and precise speed control over a wide
range operation?

(A) Synchronous motor
(B) Squirrel cage induction melor

(C) Wound rotor induction motor

/LD] DC motor

31 vF fATTe et Ui Feaet A, TETEET Jmhiee

82,

j\

83.

>~

(Brezarr wfran) & AT eraffr Hor 5
Hfwaw e #41 §7

(A) 60°

(B) 30°

(C)90° *

(D)45°

v G ¥ AT, S vE SR (dREW)
A ZaRT 00% i 3T R HTAH A
(Teiegz Agas) &, I AT BRI T
& faw MG qEg & I F#4T ga?
(A)0.5

(B)0.81

(C)1.405 »

(D)1.5

76 dfesfrer = &1 v FFgeed 600 rpm W
g &1 afs aer v afsrd 1.6 dfedeT & A
A T AN TR FAT E 7

{A)0.83 msec
(B)0.72 msec
(C)0.63 msec »
(D) 0.5 msec

mmmﬁmwm\umm@
e BEAoT & RT wett F DRt st
# ¥ FT @ wwg B I B2

(A) i Aex

(B) fRsrlr eor (et ahor) gzerer Aivew
(C)ar33(gAm) FeX FFRM(ATT) Fex

/LD}DC A
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85. Wit MOSFET #I el #, & BJT &
X ﬁ}ﬁmﬁaﬁﬂﬁrﬁﬁﬁmmmmﬁ

@ As compared to power MOSFET, a BJT has

f(jA) lower switching losses but higher conduction
loss
(B) higher switching losses and higher conduction
loss
(C) higher switching losses but lower conduction
loss
(D) lower switching losses and lower conduction
loss
86. ‘Block’ used in AutoCAD LT®, holds an important
role in productivity. Block is a(n)
(A) object that has been inserted from another
drawing file
(B) collection of objects saved as a single, named
entity
(C)file that has been attached to the current

drawing for reference only

(D) symbol library

g &

(B) 3= FEafRT g 3R 3= e o &
3

(C)3=a Rafw gife Afdt o Tra= a1
g g

(D)=t Rafdir g AR B aew @ifer gar
&

86. AutoCAD LT®, # wgad 'Block’ Seurgshar &

U AgeauT fAF T 81 Block,

(A)TF dfesige & o v HeT ST TIEd A
zwac famm o

(B) HiTestae &7 Uk IR & iord Ueh Uehd,

. aifaa tfeedy & w0 & 49 fFar mar

(C)vF T3 & o Faw fgdw & fav
TAAT 31597 & T Hewe (a1 74T §

(D) faFac arged &
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87.

88.

89,

Swinbume's method CANNOT be used for

determining the efficiency of a DC series motor, b

because

(A) it is not advisable to run a series motor on no-
load

(B) a series motor takes excessive current at no-
load

(C) a series motor develops a very high starting
torque

(D) it is not possible to load dc serles motor in
steps

Two identical 3000 kVA, 3-phase synchronous

generators operate in parallel. The governor of

the first is so adjusted that frequency drops from

50 Hz al no load 1o 47 Hz al full load. The

corresponding drop for the second machine Is

50 Hz to 48 Hz. What is the maximum load at

unity power faclor that can be delivered without

overloading either of the machines?

(A) 2000 kW
(B) 3000 kW
(C) 5000 kW
(D) 6000 kW

Which of the following is minimised by laminating
the core of a transformer?

(A) Hysteresis loss

(B) Eddy current loss

(C)Heat loss

(D) Copper loss

87.

88.

89.

Feawast R F7 s¥aTe T& DC @l (Aoh)
Frex Y eovar #1 fAUor & & A T@ R
S T g, F4iR

(A)er-ars T T AT (Ao HIET Ter

3fRa Af ¢ e
(B)w drfer (Avh) AR Ar-als W Ieaits
FeT AT &
(C)ue wfrar (AoM) AT aged o 3= T
s @ Rwfag FaT b
(D)de @fier (Aoft) #HIeT F¥ TON H TS FL
|G A6 §
2 WAET 3000 kVA, 3-F RFWH oe
TAWR & 7 &< 31 gge F @A F 59
TE Hgoree fFm T v IR Arels W
50 Hz & $o-dls W 47 Hz & fav 3T &
ST &1 gEd e & fow aeeaEy g 50 Hz
¥ 48 Hz ¥ @ & & e molw & o
Haters (Hiew) e Tar gk o

W fhcen 3fsan Jis (3IR) TG s wwar &7

(A) 2000 kW
(B) 3000 kw
(C)5000 kW -
(D) 6000 KW

U TR & I (15) B AT W
w1 # & B8 w91 fRr s wear 2
(A) TEReRfw die (e @if)

_AB)wf? ST Afe (siaT umr @)

(C)ér af (3= wf)
(D)FFR e (drar g
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90. For controlling the speed of an induction motor
the supply frequency is increased by 10%. For
maximum torque to remain constant, the supply
voitage must

/{A) be increased by 10%
(B) remain constant
(C) be decreased by 10%
(D) be reduced or increased by 20%

91. Above the curie temperature, Ferro-magnelic
material behaves like
(A) paramagnetic
(B) diamagnetic
(C) anti-ferromagnetic
(D) ferromagnetic

92. What will be the continuous rating of a 100 kW
motor if the duty cycle is 10 minute for full load,
3/4th of full load for next 10 minutes, half load for
next 20 minutes and no lead for next 20 minutes
and cycle repeats?

(A) 54.45 KW
(B) 58.63 kW
(C)73.21 kW

'y) 82.0 kW

90. T ATUT Al H 7fy F FahE F7= F e
ymgft I F 10% & qafty #r 7 &
HFAR 2% R = & v gl e

/(A)#W%ﬁqz{ﬁra‘mmm
(B)@r T @ afee
(C)F 10% =T weTd &= TR
(D)& 20% =T Terd AT geiE ger aifew

91. FY AUAE F I Aguadhrg AT e

A wE adE awr &7
(A) HeFFEHIT ©

AB) sferdwera
(C)apgaehry faRedr
(D)chear

92. uF 100 kW FRT & Hdd Hedih= 41 g

X W T TF W ois & AT 10 fAEE g,
e 10 e & v oa & @ de g,
I 20 AT F faw e &g 3 e
20 A= & v Arde AR wF ST &7
(A)54.45 kW
(B)58.63 kW o
(C)73.21 kW
AD)82.0 kW
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93. Maich List-1 with Lisl-2 and selecl tha comect 93, qdr-1 & g2 ¥ 7y fro 1 3 wAw e
answer using the codes given below for each list ¥ v A Bu nv g7 & 9@ w Tl 3
& ITT LI
List-1(SCR Ratings) | List-2(Protective FM-1(SCR Iz -2 T
Element) ‘
I. di/dt Timit 1. Snubber circuit I, dift fafie i
(fraa)
il dvidt fimit 2. Heal Sink \ / -
7= e ii. dvidt Taf#e 2. F=A
! . Series reactor (3T
Iv. Junclion 4, To avoid runway s g i et
temnperature limit speed on no load — ‘ . 4 s o oA A

(A)i-1, ii-2, lii-3, iv4 (A)i-1, ii-2, iii-3, v-4

(B) -3, il-1, iii-4, iv-2 _/[;B}I-.’!. ii-1, iil-4, iv-2
(C)-3, ii-4, Hil-2, Iv-1

(D)i-4, ii-3, i1, iv-2

(C) -3, ii-4, jii-2, iv-1
(D)i-4, ii-3, iii-1, iv-2

B4. A 100 kVA, 1100 /440 V, 50 Hz single phase i4. v% 100 KVA, 1100 VI 440 V, 50 Hz, R
transformer has 100 lums on the low voltage IR CEEET F FH dletd aried ($5ee) W
winding. The number of turns on the high voltage 100 == 2 ¥ 3=0 dee aEfiE (w T
winding will be % $r "% 4 anelr?

i) 40 {#) 40
(B) 125 (B) 125
(C)250 (C)250 *
(D) 500 (D)500
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95. IFB is the total number of branches of the graph
and N is the number of nodes, then the total

number of links (L) should be

(A) (B4+N+1)
(B) (B-N-1)

(C)(B-N+1)
(D) (B+N-1)

96. A 4 pole dc shunt motor working on 250 V takes a
current of 2 A, when running at no load at
1000 rpm. Armature resistance and shunt field
resistance are 0.2 © and 250 respectively.
What will be the percentage speed drop, if the

motor takes 51 A at a certain load?

(A)5.9
(B)4.8
(C)3.9
(D)2.98

97. When an alternator is feeding an infinite bus bar,

(A) the excitation controls the reactive power
oulpul and the governor setling conirols the
real power output

(B) the excitation controls both the real and
reaclive power output

(C) the excitation conlrols the terminal voltage
and the governor setting controls the real
power output

(D) the governor setting controls the terminal

vollage

95.

~

6.

97.

mswﬁrtmaﬁﬁrgmﬁmﬁmw

Aiga # wem @ A, w froF wwr (L) FJ
gl =nfge?

(A) (B+N+1)

(B) (B-N-1)

(C)(B-N+1) «

_{P¥(B+N-1)

1000 rpm 9T A-AF 9T god FAY, 250 V X
FH T TF 4 9 de AT (9T Fsfer)
e 2 A Flee odr &1 3R wiar Ak e
& wfady Fwen 0.2 0 3 250 @ & IR wF
ﬁﬁaﬁmg{mm_qrmnm A T & ar, e
2fg wiaerd &4 aen?

(A)5.9

(B)4.8

(C)3.9+

(D)2.98

JF UF Heclaed (Woumaad) U ad a9 an

Fr B3 FT WA, 7T

/(A]mtam RofFes giay (gfaardr fege)

Ioates F FART & ¢ AdR e A
Rae diet (aafas fega) e #
fafa s §

(B) vrarzyw et Raer diav (aafaw) i
frefae et (vfeerd ee) seaes =
ot #ar &

(C)uFaTzeY=, eH=e ateear & afa @
¢ 3N 7= ¥ Raw dfaw (aafw
faedd) soaes i Efa aer §

(D)aawR &fEw, efifae dvear @ ST &ar
)
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98. In cascade converter, If Pm and Pg represents 08. ¥e¥z weair & a% Pm HKR P, AC 3R DC
the number of poles on the AC and DC ends, BT Uy e & qHET FT gfaffies & § o,
then the synchronous speed corresponding lo the At Wit & e & AT ¥ aeTey HRE
sum of the poles of both machines is e &
(A) 120l/Pm (A) 120f/Pm
(B) 120{/Pg (B} 120f/Pg
(C) 120f/(Pm+Pg) (C)120f/(Pm+Pg) *
(D) 120t/(Pm-Pg) (D} 120f/(Pm-Pg)

89. Which of the following is the most common type 99, foast # 3 i & et # Rega ufEa
of power plants used in ships for generating FeqTee * A7 ﬁm i ST arelt
electrical power? o FeE & Tad A T 87
(A) Diesel Engines (A) IS St *
(B) Hydraulic turbines (B) gt Zeige
(C) Nuclear power plants _{@)qTAT] AfFd LRE]

(D)#TT EATTF

100.

(D) Steam accumulators

Barcoding of items helps the store's officer to

(A) generate reports on stocks
(B) control, generate reporls and manage history

of the inventory

(C)generate, contral reporls and reduce invenlory
(D) generate, control reports and increase

invenlory

mﬂ.mﬂmﬁ%ﬂw$mqﬂ’rﬁ?ﬁ

AEE LT £7

(A)HST O RAIE Ieded Fel A

ﬁlm,mmmmmt
ST &1 W ua & H

(CYFraE 3eaet e, foraaer HX AR
e #

(D) e Sevewt =, AT AR ATEwr @
o A
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Instructions / P&

Please read the lollowing instructions carefully:

1. Write your Roll Number, Question Booklel Number
and Question Bookletl Serigs on the OMR Answer Sheel
carefully and sign al the appropriate place, Please note
that in absence of the corect Roll number, Question
Booklel Mumber and Question Booklet Series and
Signature on the CMR Answer Sheel, your OMR Answer
Sheel will be lreated as invalid and will not be evaluated.

2. Strictly follow the instructions given by the Cenlre
Superinlendent f Centre Observer/ Room Invigllator and
instructions given on the Question Booklet,

3. Candidales ara not allowed lo carry any papers,
notes, books, calculators, cellular phones, scanning
devices, pagers etc. 1o the Examination Hall, Any
candidate found using, or in possession of such
unauthorized material or involved in copying oOf
impersonation or adopting unfair means or behaviors will

be disqualified and may be subjected lo penal action.

4. This examination is of objective lype. The guestion
Booklet contains a total of 100 guestions and the tofal

time allotied is 120 minutes.

5. The candidates must check thal the Question Booklet

has 100 questions with multiple choice answers. i1 any

discrepancy is found, immediately report o the

Invigilator, so thal Question Booklet may be replaced.

6. Each objective question is followed by four answers
among which ane is correcl. Your task is to choose the

corect answer and mark your answer on the OMR

Answer Sheet, NOT on Question Booklel.

7. Completaly darken the CIRCLE so that the alphabel

inside the CIRCLE is nol visible. Darken only one circle
CORRECT and the WRONG

RCLE on the OMR answer

for each answer. The
melhod of darkening the Cl
sheel are given in the example below:

Correct Mathod Wrong Method
Oe00 o) JoF
000

0O®00

00®@0

8. Use black or blue ink ball point pen for filing the
boxes and darkening the circle on OMR Answer Sheet.
Do not use pencil,

9. In view of the limited time span, do not waste your
time on a question which you find to be difficull. Go on
solving questions one by one and come back to difficult
questions at the end. I s only an ad vica.

10, Folding! wrinkling or putting any unwanted mark or
damagling lhe OMR Answer sheet is prohibited. Tha
candidate will be responsible for [nvalidation of the OMR
Answer sheel for doing such deeds.

11. Space has been provided at the end of the Question
Booklel for rough work.

12, The OMR answer sheet will have to be submilled to
the invigilator after the examination. Candidates are
allowed to cary their Queslion Bookiet from the
examination hall after the examination.

13. The queslions in lhe question booklet will be in
English and Hindi. If any confusion arises in the Hindi
version, please refer to the English version of the

question,
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